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’ WHAT IS VOLUME?

e The amount of .SPG_\QZ ___that an object takes up
¢ Asolid’s or liquid’s volume is determined by the —M—'—%— of its particles
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Questions: (use your Mole Maps to help!)
1. How many moles of SO; are in 9.5 L of SO, at STP?
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2. 6.00 L ofair at STP is compressed into a scuba tank. How many molecules of air are in the tank?
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3. HaS gas is released from rotten eggs. What volume of H;S gas at STP contains 1.07g H2S?
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4. In 1 mol of H2S04...

a. How many moles of hydrogen? (N N\ g

i. What is the ratio of # mol H2S04 to # mol of hydrogen? | HLSOQ =2H
b. How many moles of sulfur? l Mé\ '

i. What is the ratio of # mol H,S04 to # mol of sulfur? l H.,_SOH =\S
c. How many moles of oxygen? H

i. What is the ratid of # mol H2S04 to # mol of oxygen? l H‘l- 30‘1 7 ‘-t O

5. How many moles of hydrogen are in 6.0 moles of water? —% HLO
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6. How many moles of carbon are there in 14.0 moles of ClaHa?
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7. Fill in the missing entry in each conversion factor below to determine the mass of carbon in 2.0 L of
propane, C3Hg at STP.
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8. What volume of CO; at STP contains 0.20 g of carbon?
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